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EEC-07 : INDUSTRIAL DEVELOPMENT IN INDIA

Time : 3 hours Maximum Marks : 100

Note : Attempt questions as per instructions given in each

section.

SECTION A

Attempt any two questions from this section in about

500 words each. 2x20=40

1. Discuss in brief the external constraints that the
Indian industrial sector suffers from in the global

economic environment.

2. What do you mean by ‘Competitiveness’ of an
industry ? Discuss the role of ‘productivity’ in

improving competitiveness.
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3. What do you understand by ‘Balanced regional
development’ ? How far has economic planning
been successful in achieving this objective ?

4. Discuss the role of Public Sector in Indian
economic development. Also suggest measures to
improve the working of the Public Sector units.
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SECTION B

Attempt any four questions from this section in about
250 words each. 4x12=48

5. State the components of the MSME sector in the
Indian economy. How far have the recent
technological changes affected the growth of this

sector in India ?

6. Explain the factors that affect the ‘location’ of an

industry.

7. Distinguish between ‘Foreign Direct Investment’
and ‘Foreign Portfolio Investment’. Discuss their

role in Indian industrialisation.

8. Explain how SEBI regulates the Capital market

in India.

9. “New technology promotes growth and hence

employment.” Do you agree ? Give reasons.

10. What do you mean by ‘Industrial Sickness’ ?
Mention the recent initiatives to tackle this

problem.
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SECTION C

11. Write notes on any #wo of the following in

100 words each : 2x6=12
(a) Predatory Pricing

(b) Privatisation

(¢) Informal Sector in India

(d) Fiscal Incentives

EEC-07 4



2.3.91.-07

FTa IUTIY HTAHH
(. Er.dt.)

L EICR
A, 2021

UfSo® UTSTHA : TeAvTE
3.3.491.-07 : WA ¥ 3ftenfires fawm

gqT - 3 g2 3IfEIFTH 37 : 100

iz : 130 TC RIgER Ie9% 91T & 3o & I Frw |

HIT <h

3G YT @ 181 g1 ¥91 & IT TTHT 500 F1eg] (I79%5)
7 &fs 2x20=40

1. dfvaes ofdfer amaem & wrdlw fenfies &9 +
THT STel T WYY T ==l i |

2. foel 3T i “wulsficrar @ 39 =0 g9 & ?
wyfsfiaar seq # Saafear & gfemr w ==t
HIT |

EEC-07 5 P.T.O.



3. ‘wgfaa e fae @ oy w wwed ¥ 2 3@
I I ifed § Iifeles e hEl 9% a%a @
77

4. TG o 3MF faehm@ § e & 6 e W
Tt I | el & hl 5T o ITET i
FUA & 39 oft gsw |

EEC-07 6



CINRC]

59 YT & [H8] 9R ¥ & I TTHT 250 g

(97%) 7 G |

5.

10.

EEC-07 7 P.T.O.

IR sfegee § “ggn, @Y W@ 72N &7 %
Ueh T3V | WA H 39 &F 1 gehrsal o) B &
H gU TR qiecH & al deh T 88 & 2

frel SEm f Tenfdemar R uwifad w9
TRl hl AT IfrT |

‘Toesht yeger e’ wa ‘faesht ook (WwIfern)
fraw’ & e hifse |y & NErfiee § R
ftreRt <1 ==t HIRT |

Trgmse fop Wel’ wRa # S SR w1 A e
T 3 |

“Te drenfieht wafg @ Sieafea A ® of g
forw U & ot |7 T 379 wEHd 8 2 R
1T |

‘STrenfires T § 379 941 99Hd & ? 39 TEEAT 6
froem % fog e e Tl wewi (vEa) # 3gE
HIT |

4x12=48



{1

11. F=fafgs & @ 5= @7 W 100 &gi (I) H
gitreq fewfor fafew . 2x6=12

(%) wweht Ha-fHgio
(@) Tttt

() uRd ¥ S &
(") TSI Tiedred

EEC-07 8



